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ONLY ONE OPTION CORRECT TYPE 
 

Section (A) :Grignard Reagent 
 

1.   +   Mg ether  Product is :   

 (1)    (2)    (3) Both   (4) None of these 

 

2. C
6
H

5
COOH + CH

3
MgI    possible products : 

 (1) C
6
H

5
COOMgI  (2) CH

4
    (3) Both 1 & 2  (4) C

6
H

5 
– –CH

3
 

 

3. (CH
3
)

3
 CMgCI on reaction with D

2
O, produces : 

 (1) (CH
3
)

3
 CD  (2) (CH

3
)

3
 COD  (3) (CD

3
)

3
 CD  (4) (CD

3
)

3
 COD 

 

4. A compound A (C
5
H

12
O

4
) upon treatment with CH

3
MgX gives 4 mole of methane. Identify the structure 

of (A) if it has all primary functinal groups : 

 (1)    (2)  (3)  (4)  

 

5. The correct order of reactivity of PhMgBr with  

 (i) (C
6
H

5
)

2
C=O  (ii) (CH

3
)

2
C=O  (iii) CH

3
–CH=O 

 (1) (iii) > (ii) > (i)  (2) (ii) > (i) > (iii)  (3) (i) > (ii) > (iii)  (4) (ii) > (iii) > (i)  
 

6. The reaction of ethylmagnesium iodide with acetaldehyde gives after acidification  

 (1) 2-Butanol  (2) 1-Butanol  (3) 2-Methyl-2-propanol (4) 2-Methyl propanol 
 

7. Which of the following alcohols cannot be prepared by the action of a suitable Grignard reagent on an 

 aldehyde or a ketone followed by acid hydrolysis ? 

 (1) Ethyl alcohol  (2) n-Propyl alcohol (3) Isopropyl alcohol (4) Methyl alcohol 
 

8. Isobutyl alcohol obtained by : 

 (1) C2H5 MgBr and CH3CHO   (2) CH3MgBr and CH3CH2CHO 

 (3) (CH3)2 CHMgBr and HCHO   (4) CH3MgBr and CH3COCH3 
 

Section (B) : Reduction 
 

1. In which case the reaction is most exothermic with H
2
 / Ni ? 

 (1)   (2)   (3)   (4) 
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2. What are A and B in the following ?  

 B      

 (1)  in all cases  (2)  in all cases   

 (3)  in all cases    (4)A =  and B =  

 

3. The reagent used to convert  

 RCOOH  RCH
2
OH is  

 (1) NaBH
4
   (2) Na/ Alcohol   (3) Zn/Hg-HCl   (4) LiAlH

4
.   

 

4. When benzoic acid is treated with LiAlH
4
, it forms 

 (1) Benzaldehyde (2) Benzyl alcohol (3) Benzene  (4) Toluene 
 

5. In the reaction, A  KCNB 4LiAlH
 C

2
H

5
NH

2
  

 (1) A is CH
3
l  (2) B is CH

3
NC  (3) A is C

2
H

5
l  (4) B is C

2
H

5
NC 

 

6. B  A 

 A and B are respectively :  

 (1)  ,  

 (2)  ,  

 (3)  in both case  

 (4)  in both case  

 

7. Which of the following reagents can be used to reduce acetone to isopropyl alcohol ? 

 (1) LiAlH
4
  (2) NaBH

4
  (3) H

2
/Ni  (4) All the above 

 

8. R–Cl + AgCN  A Reduction B 

 A and B respectively are 

 (1) RCN, RCH2NH2 (2) RNC, RNHCH3 (3) RCN, RNHCH3 (4) RNC, RCH2NH2 
 

9. B  A 

 A and B are :  

 (1)  in both cases   (2)  in both cases 

 (3) A is I, B is II     (4) A is II, B is I 
 

 

10. Propanoyl chloride is subjected to reduction with H
2
 in boiling xylene in the presence of Pd supported 

over BaSO
4
. The product formed is 
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 (1) Acetone  (2) Propanal  (3) Ethanal  (4) Butanone 

11. In the following reaction C2H5OC2H5 + 4H  2X + H2O, X is  

 (1) Ethane  (2) Ethylene  (3) Butane  (4) Propane 
 

12. For the conversion of CH
3
OH into methane, the reagent used is :  

 (1) sodium   (2) P and HI  (3) hydrogen   (4) sodium hydroxide 
 

13. Stephen reduction converts cyanides to  

 (1) Aldehydes   (2) Ketones  (3) Amines  (4) Acids 
 

Section (C) :Oxidation  
 

1. Baeyer’s reagent is; 

 (1) alkaline KMnO
4
 solution     (2) acidic KMnO

4
 solution 

 (3) neutral KMnO
4
 solution    (4) aqueous bromine solution 

 

2.      ; R1 and R2 are 

(1) Cold alkaline KMnO4, OsO4/H2O2  (2) Cold alkaline KMnO4, HCO3H & H3O+ 

 (3) Cold alkaline KMnO4, C6H5CO3H  (4) C6H5CO3H, HCO3H  
 

3. The reaction,     

 is known as : 

 (1) Wolff-kishner reduction   (2) Oppenauer oxidation 

 (3) Meerwein -Ponndorf reaction   (4) Clemmensen reduction 
 

4. 1-Butyne on reaction with hot alkaline KMnO
4
 gives: 

 (1) CH
3
CH

2
CH

2
COOH     (2) CH

3
CH

2
COOH 

 (3) CH
3
CH

2
COOH + CO

2
      (4) CH

3
CH

2
COOH + HCOOH  

 

5. An alkene with molecular formula C
8
H

16
 on oxidation with hot KMnO

4
 gives acetone and 3-pentanone. 

The structure of the alkene is  

 (1) (CH
3
)

2
 C = C (C

2
H

5
)

2
     (2)   

 (3) (C
2
H

5
 )

2
 C = CHCH

2
CH

3
    (4) (CH

3
)

2
 C = CH (CH

2
)

3
CH

3
. 

 

6. Which of the following decolourises hot KMnO
4
 solution ? 

 (1) CH
3
CH

2
CH

3
  (2) CH

4
    (3) CH

3
CH

3
  (4) (CH

3
)

3
CH. 

 

7. Propan-1-ol and Propan-2-ol can be best distinguished by : 

 (1) oxidation with alkaline KMnO4 followed by reaction with H2O 

 (2) oxidation with acidic dichromate followed by reaction with Fehling solution 

 (3) oxidation by heating with copper followed by reaction with Fehling solution 

 (4) oxidation with conc.H2SO4 followed by reaction with Fehling solution 
 

8. Jones reagent is  

 (1) Acidified K
2
Cr

2
O

7
 solution 

 (2) Alkaline K
2
Cr

2
O

7 
solution 

 (3) CrO
3 
in aqueous acetone 
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 (4) A solution of K
2
Cr

2
O

7
/H

2
SO

4
 in aqueous ethanol 

 

9. Secondary alcohols on heating with reduced copper at 300ºC give 

 (1) Alkenes  (2) Aldehydes  (3) Ketones  (4) tert-alcohols 
 

10. Which of the following,  

 (i) R —CO—CO—R    (ii) R—CO—CHOH—R  

 (iii) R—CHOH—CH
2
—CHOH—R   (iv) R—CHOH—CHOH—R 

 Will be oxidised by HlO
4
 ? 

 (1) i, ii and iii  (2) i, iii and iv  (3) i, ii and iv  (4) ii, iii and iv  
 

11. 4HIO
   product obtained in the above reaction 

 (1) 2HCHO  (2)   (3) 2HCOOH  (4)  
 

12. Which of the following do not give glyoxal on ozonolysis followed by reaction with Zn and H
2
O ?  

 (1) Benzene  (2) HC  CH  (3) Toluene  (4) Ethene  
 

 

 
 

ONLY ONE OPTION CORRECT TYPE 
 

1. What is the function of diethyl ether in the preparation of grignard reagent ? 

 (1) To act as a catalyst      

(2) To act as a electrophile 

 (3) To provide lone pair of electrons for coordination  

(4) To act as an acid 
 

2. Which of the following functional group produced CH
4
 gas by the reaction of compound (I) with 

CH
3
MgBr ? 

    
         (I)  

 (1) OH   (2) COOH  (3) SO
3
H  (4) All of these 

3.   

 Above compound contains four functional group the rate of reaction with RMg-X will be :  

 (1) I > III > II > IV (2) I > II > III > IV (3) IV > I > II > III (4) I > IV > III > II  
 

4. n-Propyl alcohol is obtained on hydrolysis of the adduct obtained by the reaction of 

 

 (1) EtMgX and HCHO    (2) MeMgX and  
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 (3) EtMgX and O
2
     (4) MeMgX and CH

3
CHO 

 

 

5. Which of the following reactions leads to formation of 2-propanol ?  

 (1) CH3CH2MgI + HCHO  Adduct   (2) CH3MgBr + CH3CHO Adduct    

(3) CH3MgBr +    Adduct    (4) None of these 

 

6. The reaction, BrCH
2
CH

2
CH

2
Br + Mg 

2Et O
   

 produces mainly. 

 (1) CH
3
CH

2
CH

3
     (2) BrMgCH

2
CH

2
CH

2
MgBr 

 (3)      (4) CH
3
CH = CH

2 

 

7. Ph MgBr

1mole

 + ClCCH)CH(
||
O

23   [X] Zn Hg/HCl  [Y] 

 Identify strucutre of [Y]. 

 (1) 

3

32

CH
|

CHCHCHPh      (2) 

3

32

CH
|

CHCHCHPh    

 (3) 

3

3

3

CH
|

CHCPh
|
CH

      (4)  

 

8. CH
3
–CH

2
–CH

2
–CH

2
–CH

2
–Br  A  B  C 

 Identify C  

 (1)     (2)  

 (3)      (4)  

 

9.    ? 

 The product is : 

 (1) Ph–CH
2
–CH

3
  (2)    (3)    (4)  

 

10. The relative rates of catalytic hydrogenation is in the order of -  

 (1) CH2 = CH2 > RCH = CH2 > RCH = CHR > R2C = CHR  

 (2) R2C = CHR > RCH = CHR > RCH = CH2 > CH2 = CH2  
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 (3) RCH = CHR > R2C = CHR > RCH = CH2 > CH2 = CH2  

 (4) R2C = CHR > CH2 = CH2 > RCH = CHR > RCH = CH2  

 

11. C
6
H

12
 (A) has two types of alkenes that can be reduced to one type of C

6
H

14
 (B). B is: 

 (1)    (2)     

(3)       (4)   

 

12. The reagent used to convert an alkyne to alkene is :   

 (1) Zn-Hg/HCl  (2) Pd/H
2 
/CaCO

3
 (3) Zn/HCl  (4) Sn/HCl  

 

13. RCH = CH
2
  RCH

2
CH

3   
 

 This reaction is called as :  

 (1) Fischer-Siper reaction   (2) Clemmensen reduction 

 (3) Birch reduction    (4) Arndt-Eistert synthesis 
 

14. How many alkenes which on hydrogenation give 2-methylbutane. 

 (1) One   (2) Two   (3) Three  (4) Four 
 

15.  

 In the above reaction the using reagents X and Y are ; 

 (1) Na/ liq. NH3 for X    (2) H2, Pd/ BaSO4 for Y 

 (3) BH3-THF + CH3COOH for Y    (4) All of these  

 

16. 3Na /NH ( )
   P, the product can be :  

 (1)   (2)   (3)   (4)   

 

17.      



CHEMISTRY FOR NEET                                              GRIGNARD REAGENT 

 

                   Page| 32      

   

 

 (1) M is    (2) N is  (3) Y is  (4) All of these are correct  

 

 

18.  , P is :  

 (1)   (2)   (3) both are correct (4) None  

 

19.  Identify a & b, in the following reaction : 

    

 (1) Both are     

 (2) Both are  (+ EtOH) 

 (3) a = , b =  (+ EtOH) 

 (4) a  =  (+ EtOH), b  =  

 

20. Consider reduction of 2-butanone.  

 B A, B and C are respectively. 

 (1)  in all cases   (2) , ,  

 (3) , ,  (4)  in all case  

 

21. Product of the Wolff-Kishner reduction is - 

 (1) Alkene  (2) Alkyne  (3) Alkane  (4) Amine 
 

22. Wolff kishner reduction cannot be used in which of the following 
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 (1)   (2)   (3)   (4)  

 

 

 

23. Clemensen reduction cannot be used in which of the following ?  

 (1)   (2)   (3)   (4)  

 

24.    Product is :  

 (1)    (2)  

 (3)    (4)  

 

25. Alkene (X) 4KMnO



   +  

 X is : 

 (1)  (2)  (3) (4)  
 

26. An unknown compound decolorizes bromine in carbon tetrachloride, and it undergoes catalytic reduction 
to give decalin. When treated with warm, conc. potassium permangate, this compound give cis–
cyclohexane–1,2–dicaboxylic acid and oxalic acid. Possible structure for the unknown compound is-  

 (1)  (2)   (3)    (4)   

 

27. On oxidation, an unknown alkene C
8
H

16
 gives a mixture of propanoic acid and pentanoic acid. The 

unknown alkene can be 
 (1) cis-3-octene  (2) trans-2-octene (3) cis-4-octene  (4) trans-4-octene 
 

28. An unknown compound K (C
6
H

12
) decolorizes Br

2
 and is oxidised by hot acidified KMnO

4
 to a resolvable 

carboxylic acid C
4
H

9
COOH. Identify K.  

 (1)     (2)   

 (3)    (4)   

 

29. An alkene ‘A’ contains three C — C, eight C — H  bonds and one C — C  bond. ‘A’ on ozonolysis 
gives two moles of an aldehyde of molar mass 44 u. IUPAC name of compound ‘A’ is : 

 (1) But-1-ene  (2) Pent-2-ene  (3) But-2-ene  (4) Hex-3-ene 
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30. An organic compound on reaction with O
3
 followed by Zn and H

2
O gives CH

3
COCH

2
CH

2
COCH

3 
as one 

of the product. The structures is/are : 

 (1)     (2)  

 (3)     (4) All of these  

 

31. Which of the following are correct ? 

 (1) 31.O
   OHC-CH

2
CH

2
CH

2
-CHO (2) 6 5

2 2

C H COOOH

CH Cl
    

 (3) 4KMnO

cold dilute
solution

      (4) All of these  

 

32.  is oxidised by heating with alkaline KMnO4 to give :  

 (1) CH2O + CH3CO(CH2)4COOH  (2) CO2+CH3COCH2COCH2CH2COOH 

 (3) CH2O+CH3COCH2COCH2CH2COOH  (4) the corresponding tetrol 

 

33.  products, products are: 

 (1) CH CCH ,3 3

O

 (CH3)3 CCOOH   (2) CH CCH ,3 3

O

 (CH3)3 CCHO 

 (3) CH COH,3

O

 (CH3)3 CCOOH   (4) none is correct  

 

34. 1-Butyne  4 /KMnO 
X   +   Y  

 Identify X and Y ? 

 (1) CH3CH2CH2COOH + O2   (2) CH3CH2COOH    

 (3) CH3CH2COOH + CO2 + H2O   (4) CH3CH2COCH3 + HCOOH 

 

35. X 
3

Ozonolysis

O
 CH

3
CHO + CH

3 
CH

2 
CHO, X is :       

 (1) 2-butene  (2) 2-pentene   (3) 1-pentene   (4) 1-butene  

 

36. In the reaction,        

 CH3COOH 4LiAlH
  A 5PCl

  B  2NaNH , 
C, 

 The product C is : 

 (1) Acetaldehyde (2) Acetylene  (3) Ethylene  (4) Acetyl chloride 
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PART - I : NEET / AIPMT QUESTION (PREVIOUS YEARS) 
 

 

1. Which alkene on ozonolysis gives CH
3
CH

2
CHO and 

O
||
CCHCH 33

 ?              [AIPMT 2001] 

 (1)    (2) CH
2
CH

2
CH == CHCH

2
CH

3
  

 (3) CH
3
CH

2
CH == CHCH

3
   (4) 

3

33

CH
|

CHCHCCH 

 
 

2. 2

3

(i) CO

(ii) H O
P 

 In the above reaction product ‘P’ is                  [AIPMT 2002]  

 (1)   (2)   (3)   (4)  5656 HCCHC
||
O

  

 

3. n-propyl alcohol and iso-propyl alcohol can be chemically distinguished by which reagent [AIPMT 2002]  

 (1) PCl5      (2) reduction  

 (3) oxidation with potassium dichromate  (4) ozonolysis 
 

4. The compound,                   [AIPMT 2003] 

 on reaction with NaIO
4
 in the presence of KMnO

4
 gives : 

 (1) CH
3
COCH

3
 + CH

3
CHO   (2) CH

3
CHO + CO

2 

  (3) CH
3
COCH

3
     (4) CH

3
COCH

3
 + CH

3
COOH 

 

5. The most suitable reagent for the conversion of : 

 RCH
2
OH  RCHO is :          [AIIMS 2004, AIMPT 2004] 

 (1) KMnO
4
     (2) K

2
Cr

2
O

7
   

(3) CrO
3
     (4) PCC (pyridine chloro chromate) 

 

6. Which one of the following alkenes will react faster with H
2
 under catalytic hydrogenation conditions?  

 (R = Alkyl substituent)                    [AIPMT 2005] 

 

 (1)    (2)    (3)   (4)  

 

7. Products of the following reaction                  [AIPMT 2005] 

 CH
3
C  C. CH

2
CH

3
3(i) O

(ii) Hydrolysis
  ... are :

 (1) CH
3
CHO + CH

3
CH

2
CHO   (2) CH

3
COOH + CH

3
COCH

3 
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  (3) CH
3
COOH + HOOC.CH

2
CH

3
   (4) CH

3
COOH + CO

2 

8. Which of the following compounds with molecular formula, C
5
H

10
 yields acetone on ozonolysis?  

           [AIPMT 2007] 

 (1) 2-methyl-2-butene (2) 3-methyl-1-butene  (3) Cyclopentane (4) 2-methyl-1-butene 
 

9. In the following reaction, C6H5CH2Br 
3

1. Mg Ether

2. H O
X,


  the product 'X' is :  [AIPMT 2010]  

 (1) C6H5CH2OCH2C6H5    (2) C6H5CH2OH   

 (3) C6H5CH3      (4) C6H5CH2CH2C6H5 

 

10. Clemmensen reduction of a ketone is carried out in the presence of which of the following ? 

          [AIPMT 2011]  

 (1) Glycol with KOH (2) Zn-Hg with HCl (3) Li Al H
4  

(4) H
2
 and Pt as catalyst 

 

11. Given          [AIPMT 2015]  

  

 The enthalpy of hydrogenation of these compounds will be in the order as : 

 (1) III > II > I  (2) II > III > I  (3) II > I > III  (4) I > II > III 
 

12. The correct structure of the product A formed in the reaction:   [NEET-2- 2016]  

 

 O 

H2 (gas, 1 atmosphere) 

Pd / carbon, ethanol 
A 

 
 is : 

 (1) 

 OH 

 
  

(2) 

 OH 

 
  

(3)  

 O 

  
(4) 

 OH 

 

 

13. The most suitable reagent for the following conversion, is    [NEET-1- 2019] 

 H3C–CC–CH3   
 

H3C 

H 

CH3 

H 
cis-2-butene   

 

 (1) Hg2+/H+, H2O    (2) Na/liquid NH3     

(3) H2, Pd/C, quinoline    (4) Zn/HCl 

 

14. The reaction that does not give benzoic acid as the major product is –   [NEET-2- 2019]  

(1) 
 CH2OH 

 2 2 7K Cr O   (2) 
 COCH3 

 
3

(i)NaOCl

(ii)H O  

 (3) 
 CH2OH 

 PCC

Pyridinium
Chlorochromate
 
  

  (4) 
 CH2OH 

 4KMnO /H

  
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PART - II : AIIMS QUESTION (PREVIOUS YEARS) 
 

1. Ethylene oxide when treated with Grignard reagent yield :           [AIIMS 2007, AIPMT 2006] 

 (1) Secondary alcohol (2) Tertiary alcohol (3) Cyclopropyl alcohol (4) Primary alcohol  
 

2. The hydrocarbon which does not decolourise alkaline KMnO
4
 solution and also does not give any 

precipitate with ammonical silver nitrate is :       [AIIMS 2007] 
 (1) benzene  (2) acetylene  (3) propyne  (4) 1-butyne  
 

3. CH
3
 – CH

2
C  N X  CH

2
CH

2
CHO 

 The compound X is :           [AIIMS 2008] 
 (1) SnCl

2
 / HCl / H

2
O, boil    (2) H

2
 / Pd – BaSO

4
   

 (3) LiAlH
4
 / ether     (4) NaBH

4
 / ether / H

3
O+  

 

4. An alkyl chloride 'A' on reaction with magnesium in dry ether followed by treatment with ethanol gave 2-
methylbutane. Give the possible strucuture of ‘A’      [AIIMS 2009] 

 (1) (CH
3
)

2
C(Cl)CH

2
CH

3
    (2) (CH

3
)

2
CHCH

2
CH

2
Cl

 

 (3) CH
3
CH

2
CH

2
CH

2
CH

2
X   (4) Both (1) and (2) 

 

5. Which of the following products is formed when benzaldehyde is treated with CH
3
MgBr and the addition 

product so obtained is subjected to acid hydrolysis ?     [AIIMS 2013] 
 (1) A secondary alcohol   (2) A primary alcohol  
 (3) Phenol     (4) tert - Butyl alcohol  
 

6. Which of the following gives primary amine on reduction ?     [AIIMS 2013] 
 (1) CH

3
CH

2
NO

2
   (2) CH

3
CH

2
–O–N=O  (3) C

6
H

5
 N = NC

6
H

5
  (4) CH

3
CH

2
 NC  

 

7. In the following reaction          [AIIMS 2015] 

 CH
3
CHO+NH

2
.NH

2
  A B CH

3
CH

3
+N

2
  

 Identify A and B.  
 (1) CH

3
CH=NNH

2
 and C

2
H

5
ONa (2) CH

3
CH

2
–NH

2
 and C

2
H

5
ONa 

 (3) CH
3
–NH–NH–CH

3
 and C

2
H

5
OH (4) CH

3
CH

2
NH

2
 and C

2
H

5
OH 

 

8. 
 

On ozonolysis gives         [AIIMS 2017] 

(1) 

 CHO 

    (2) 

 COCH3 

   

(3) 

 O 

    (4) None of these  

 

9. CH3– CHO 3

2

(i)CH MgBr

(ii)H O
  (a) 2 4H SO ,

  (b) Hydroboration oxidation (c)   [AIIMS 2017] 

 In the above reaction (a) and (c) are    
(1) Identical  (2) Positional isomers (3) Functional isomers (4) Optical isomers  
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10. 

 CH3 

Br 

C6H5 

H 

2N

NaOH

S
          [AIIMS 2018] 

 (1) 

 CH3 

OH 

C6H5 

H 

 (2)  

 C6H5 

 

OH 

CH3 

H 

 (3) 

 CH3 

 

OH 

C6H5 

 

H 

 (4) 

 OH 

 

C6H5 

 
 

CH3 

H 

 

 

11. Ph–CH2–CH2–C C–CH3  3Na/NH
 2Cl /h

      [AIIMS 2018] 

 (1)  
C=C 

Ph–CH(Cl)–CH2 

H 

CH3 

H 

  (2)  
C=C 

Ph–CH(Cl)–CH2 

H 

H 

CH3 

 

 

 (3) Ph–CH2–CH(Cl)–CH=CH–CH3  (4) None of these  
 

12. 

 

C–O–R 

O 

 



  

 CH2–OH 

      

[AIIMS 2018] 

 Which reagent is suitable for this conversion ? 

 (1) Zn-Hg/HCl   (2) LiAlH4  (3) NH2–NH2/OH– (4) Red P + HI  
 

13. 

 COOH 

NO2 

 

4LiAlH
Product is :        [AIIMS 2018] 

 (1) 

 OH 

NO2 

   (2) 

 OH 

NH2 

  (3)  

 CH2OH 

NO2 

  (4) 

 CH2OH 

NH2 

 

 

14. Give correct sequences of reaction for following conversion :    [AIIMS 2018] 

 

 

C–OCH3 C–H 

O 

O O 

 

 (1) DIBAL –H, NaBH4, 3H O /   (2) 3H O /, NaBH4, DIBAL–H 

 (3) NaBH4, DIBAL–H, 3H O /   (4) DIBAL–H, 3H O /, NaBH4 

 

15. Assertion : C6H5–MgBr Reacts with CO2 and forms benzoic acid.   [AIIMS 2018] 

 Reason : CO2 is electrophile. 

 (1) If both assertion and reason are true and reason is the correct explanation of assertion. 

 (2) If both assertion and reason are true but reason is not the correct explanation of assertion.  

 (3) If assertion is true but reason is false. 

 (4) If both assertion and reason are false. 
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PART - III : JEE (MAIN) / AIEEE PROBLEMS  (PREVIOUS YEARS) 
 

1. But-1-ene may be converted to butane by reaction with     [AIEEE 2003] 

 (1) Zn - HCl  (2) Sn - HCl  (3) Zn - Hg  (4) Pd/H
2
. 

 

2. Which one of the following is reduced with zinc and hydrochloric acid to give the corresponding 

hydrocarbon?                        [AIEEE-2004] 

 (1) Ethyl acetate (2) Butan-2-one  (3) Acetamide  (4) Acetic acid 

 

3. The best reagent to convert pent-3-en-2-ol into pent-3-ene-2-one is    [AIEEE-2005] 

 (1) Pyridinium chloro-chromate   (2) Chromic anhydride in glacial acetic acid 

 (3) Acidic dichromate    (4) Acidic permanganate 

 

4. In the following sequence of reactions, the alkene affords the compound ‘B’   [AIEEE-2008, 3/105] 

CH3CH=CHCH3 3O
A 2H O

Zn
  B, The compound B is : 

 (1) CH3COCH3   (2) CH3CH2COCH3 (3) CH3CHO   (4) CH3CH2CHO 

 

5. Ozonolysis of an organic compound gives formaldehyde as one of the products. This confirms the 

presence of :           [AIEEE-2011] 

 (1) two ethylenic double bonds   (2) a vinyl group 

 (3) an isopropyl group    (4) an acetylenic triple bond 

 

6. In the given transformation, which the following is the most appropriate reagent ?  [AIEEE-2012] 

 
Reagent    

 (1) NH
2
NH

2
, OH



 (2) Zn–Hg/HCl  (3) Na, Liq, NH
3
  (4) NaBH

4
  

 

7. The most suitable reagent for the conversion of R–CH2–OH  R–CHO is :        [JEE-MAIN-2014] 

 (1) KMnO4      (2) K2Cr2O7 

 (3) CrO3     (4) PCC (Pyridinium Chlorochromate) 

 

8. The major product obtained in the following reaction is :         [JEE-MAIN-2017] 

  

 O 
O 

COOH 

  
H–DIBAL

 

 (1) 

 

CHO 

OH 

CHO  (2) 
 

COOH 

CHO  (3) 
 

CHO 

CHO  (4) 

 

COOH 

OH 

CHO  

 

9. The trans-alkenes are formed by the reduction of alkynes with :          [JEE-MAIN-2018] 

 (1) Na/liq. NH3   (2) Sn - HCl   (3) H2–Pd/C, BaSO4  (4) NaBH4  

 

10. The major product of following reaction is :            [JEE-MAIN-2019] 

 R–CN 2

2

(1)AlH(i Bu)

(2)H O


 ?  

 (1) RCONH2    (2) RCH2NH2   (3) RCHO   (4) RCOOH  



CHEMISTRY FOR NEET                                              GRIGNARD REAGENT 

 

                   Page| 40      

   

 

11. The major product ‘X’ formed in the following reaction is :          [JEE-MAIN-2019] 

 

 

CH2–C–OCH3 

O 
O 

 
MeOH

NaBH 4    X 

 (1) 

 

CH2CH2OH 

OH 

    (2) 

 

CH2CH2OH 

OH 

    

(3) 

 

CH2–C–OCH3 

OH 
O 

    (4) 

 

CH2–C–H 

O 
O 

  

 

12.  The major product obtained in the following reaction is;    [JEE-MAIN-2019] 

 

 

O 

O 

CO2Et 

NaOEt/
  

 (1)  

 O 

CO2Et 
    (2) 

 O 

CO2Et 

    

(3)  

 O 

CO2Et 

    (4) 

 O 

CO2Et 
   

 

13. The major product of the following reaction is:         [JEE-MAIN-2019] 

 

O 
 CH3N 

 

 

4NaBH
  

 (1) 
O 
 CH3NH 

 

 
    (2)  

OH 
 CH3NH 

 

 
    

(3) 
OH 
 CH3N 

 

 
     (4) 

OH 
 CH3N 

 

 
  

 

14.  The major product of the following reaction is:         [JEE-MAIN-2019] 

   

 (1) 
 OH 

NH2 

  (2) 

 

O 
CHO 

H 

  (3) 
 N   (4) 

 NH    
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15. The major product obtained in the following reaction is :          [JEE-MAIN-2019] 

 

 

NO2 

O OH 

OH 

CH3 

 
 

excess
LiAlH4

  

 (1) 

 

NH2 

OH 

OH 

CH3 

 

(2) 

 

NO2 

OH 

OH 

CH3 

 (3) 

 

NH2 

OH 

OH 

CH3 

 

(4) 

 

NH2 

OH 

OH 

CH3 

 

16. Which of the following compounds reacts with ethyl magnesium bromide and also decolourizes bromine 
water solution :         [JEE-MAIN-2019] 

 (1) 

 

  (2) 

 

 (3) 

 

  (4) 

 

  

 

17. 

 

CH3CH2–C–CH3  

OH 

Ph  

cannot be prepared by :      [JEE-MAIN-2019] 

 (1) HCHO + PhCH(CH3)CH2Mg   (2) PhCOCH2CH3 + CH3MgX 
 (3) PhCOCH3 + CH3CH3MgX   (4) CH3CH2COCH3 + PhMgX 
 

18. The major product of the following reaction is :      [JEE-MAIN-2019] 

 

 CN 

O 

O 

 

  
 


OHii

HDIBALi

3

  

 (1) 

 CHO 

O 

O 

 (2)

 

 CHO 

O 
 (3) 

 CHO 

OH 

CHO 

  (4)

 

 CH=NH 

OH 

OH 

  

19. The major product of the following reaction is :     [JEE-MAIN-2019] 

 

 O 
 

4NaBH

EtOH
  

 (1) 

 O 
 

   (2)  

 O 
 

OEt 
 

 (3) 

 OH 
 

     (4) 

 OH 
 

OEt 
 

 
20. The aldehydes which will not form Grignard product with the equivalent Grignard reagents are: 
           [JEE-MAIN-2019] 

 (A) 

  CHO 

 
 (B) 

  CHO 

 

HO2C 
 

(C) 

  CHO 

 

H3CO 
 

(D) 

  CHO 

 

HOH2C 
 

 

 (1) (B), (D)   (2) (B), (C)    (3) (C), (D)    (4) (B), (C), (D)  
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EXERCISE - 1 
 

SECTION (A)  
 

1. (2)   2. (3)  3. (1)  4. (3)  5. (1)  6. (1)  7. (4)  
 

8. (3)  
 

SECTION (B) 
 

1. (2)   2. (4) 3. (4)  4. (2)  5. (1)  6. (2)  7. (4)  
 

8. (2)  9. (4)  10. (2)  11. (1)  12. (2)  13. (1)  
 

SECTION (C) 
 

1. (1)  2. (2)  3. (2)  4. (3)  5. (1)  6. (4)  7. (3)  
 

8. (3)  9. (3)  10. (3)  11. (1)  12. (4)  
 

EXERCISE - 2 
 

1. (3)  2. (4)  3. (2)  4. (1)  5. (2)  6. (3)  7. (1)  
 

8. (1)  9. (4)  10. (1)  11. (2)  12. (2)  13. (3)  14. (3) 
 

15. (4)  16. (2)  17. (4)  18. (1)  19.  (3)  20. (2)  21. (3)  
 

22. (1)   23. (2)  24. (1)  25. (1)  26. (4)  27. (1)  28. (1)  
 

29. (3)  30. (4)  31. (4)  32. (2)  33. (1)  34. (3)  35. (2)  
 

36. (3)  
 

EXERCISE - 3 
 

PART-I 

 

1. (1)  2. (2)  3. (3)  4. (4)  5. (4)  6. (1)  7. (3) 
 

 

8. (1)  9. (3)  10. (2)  11. (1)  12. (3) 13. (3) 14. (3) 
  

PART-II 
1. (4)  2. (1)  3. (1)  4. (4)  5. (1)  6. (1)  7. (1)  
 

8. (3)  9. (2)  10. (2)   11. (2)  12. (2)  13. (4)  14. (3)  
 

15. (2)  

PART-III 
 

1. (4)  2. (2)  3. (1)  4. (3)  5. (2)  6. (1)  7. (4) 
 

8. (1)   9. (1)  10. (3)  11. (3)  12.  (4)  13. (2)   14.  (3)  
 
15. (1)  16. (3)  17. (1)  18. (3)  19. (3)  20. (1)   
 


